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Answers for Midterm 3 – December 4, 2008

1. Value of game =3


An optimal strategy for Row Player is: (0,1,0,0,0,0)


An optimal strategy for Column Player is: (0,1,0,0,0,0,0)

2. Value of game =2


An optimal strategy for Row Player is:  (0,0,1/2,1/2,0) 


An optimal strategy for Column Player is:  (0,0,0,0,1,0,0)

3. Value of game = 6/5


An optimal strategy for Row Player is:  (0,1/5,4/5) 


An optimal strategy for Column Player is:  (0,3/5,0,2/5)

4. Y= 6/(8-t)

X= (12-3t)/(8-t)

[This work when t is not 8. If t = 8, there are no solutions. –LV]

5. Mean = 33/12 = 2.75

Midrange = 4

Center Value = 3/2 = 1.5

